=
22k
L
1k
[
=t
=

ey
—y

2 Il
g x El = £
£ 2,2k = < - = E
g H‘:l—‘ 33k b 220nF i
= - = Q2
47nF Sy 6gk 10nF a1
:Fxln if e — L Ny 1k il
535mH 1 ﬁ
o I'variable | 2
e | = = S L B
:[] 2[:| :I Hl,_EnF ‘E
=
i M i‘anFI oJ =
R _| 1.8nF B-Way-
Rotary- =i
—{220% swich L

e

_HjﬂnF i Sweep- |

2o PR
+0Y DC 100R — N o
M L | | GuTFoT

+9VDC  100R Ugd \/

O
(]
e
2,2M0hm
&
[FF]
=
<«

MNotes:

-IC 1 are MC33174 jim dunlop 535Q Multi Wah

-0 1+2 are MMBTS059

- Connect IC1 Pin 4 to Uee,
Pin 11 to GND

- True Bypass Version! REV.:1.3 Date: February 2005

- Circuit NOT tested!!
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